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1 FEB kK £ 40.2
2 = AKX fngh 410
3 fng B K 41.2
4 BB I BE 415
5 Higksr & &g Bt 419
6 [ HRfE $ARER 42.0
7 INE mfh FE 423
8 [ FH &% 42.6
8 IR 2SS BE 42.6
8 INETE BE —& 42.6
11 = BHE EH 42.7
12 FrfE IH BX 42.8
12 INEE B 8K 42.8
12 Higksr & =R EHE 42.8
15 A& EH OIKE 429
16 [® & = 43.0
17 [ B Btk 43.1
17 7R &k B 43.1
19 FH BE X 43.5
20 INEE WA BRAEA 436
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1 = R B 39.4
2 Higksr & ki 2R 41.4
3 REAR “E R 41.9
4 [ I FRR 42.8
4 W ol o Bl i 42.8
6 IR Pt x4 431
6 R R F8 43.1
8 K& AH & 43.3
9 K% AR HhE 43.5
10 Ak &5 BE 43.7
11 K& =2 MR 44.6
12 Higks & H EnE 447
13 FH EH EI 45.1
13 Higksr & A+ 19 451
15 FH e ¥ 46.2
16 NG hE EE 46.5
17 Higks & HE HEH 48.1
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1 K& KT B 35.7
2 [ Bl gEX 38.4
3 R EH 2 385
4 BB SH BN 39.0
5 K& FH #i 39.3
6 K& PR 1KEE 39.6
7 7rfE =i BEBE 39.8
8 =] Wik Eth 40.8
8 = Bl R 40.8
10 K& M&E #H2 413
11 = \LE 8 415
12 INEE AL =E 42.2
13 NG T EX 42.4
14 K& A BEE 42.5
15 REA At K 427
16 [ R R 44.3
17 BB B X 455
18 FrfE mE 46.9
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1 Higksr & INFR HIZR 39.2
2 IR WE B¥ 39.7
3 FrfE BIE #EK 403
4 A& HiE KER 41.0
5 NG ok HmY 41.1
5 Higks & BH B 41.1
7 A& EA i 416
8 [ IR YiEiE 41.8
8 INET INFE BB 41.8
10 [ =i B1E 42.1
10 = Bk DTH 42.1
12 FrfE I E 425
12 R i XIH 42.5
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1 K& ER EC 37.0
2 Higks e N 375
3 A& A &M 385
4 IR AT g2 38.7
4 INE RIS ERE 38.7
6 oL 04x B2H 39.1
7 = HAR #E 39.2
8 R AXH #HE 39.4
8 ¥ pElR BX 39.4
10 Higks FE RN 40.7
11 Higks TV -7 N 40.9
12 KBy BA Xig 413
13 INEE RE KB 41.6
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1 g nR =4 37.8
2 7R Bl EE 39.1
3 K& ERK EH 39.5
4 [ B RE 39.8
5 =] R ti 40.1
6 [ %% HEf&S 40.6
7 REA NH& 41.0
8 INE AFE #& 41.4
9 R Rk FIRE 416
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1 K& T ER 36.1
2 R H/0 157 37.0
3 INE Il 376
4 [ AKX 48 37.9
4 NG NTIR Gl 37.9
4 Higir & BH =H 37.9
7 INET TR @& 38.0
8 INETE R BB 38.3
8 Higks T EN 38.3
10 K& IWE & 38.7
1" IR fH a1 B3 39.1
12 [ EF BE 39.3
12 Higks BH = 39.3
14 A& Hf X 416
15 Higks g BX 422
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1 Higir & i NI 35.9
2 REAR o MEK 375
3 INE EIl FRR 38.0
4 INE K UMY 38.7
5 [ R W& 39.0
5 =] FE RI& 39.0
7 R B XER 39.4
8 =] B ET 39.7
9 [ A =F 39.9
10 INE Mt BE 40.1
11 p/ €= P NTTREF 417
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1 = AH &= 37.5
2 INE BE {G{C 376
3 Higks KRR KHE 378
4 = Kif BF 38.0
5 FrfE ¥ HE 38.3
6 IR 0 K 38.5
7 IR hikE 2 38.8
8 [ s & 40.1
9 = gronl I 41.7

WSH/KS¥2 7 :y0—)L S58 KF

& 2 RI—IL% K4 RPN
1 Kigir R &R 36.2
2 me FH OFM 36.9
3 INETE BH BT 37.3
4 [ nE W5 37.8
4 RER Bl ZR 37.8
6 ARk el ke 38.2
7 I HE BEK 38.4
8 FE B’H BT 38.8
9 INETE Rk BE 39.4
10 BB BE BRE 39.6
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JE fZ RI—IVE K4 FEPN
1 7rFE A EE 35.0
2 7R a8 H 36.6
2 INET A #& 36.6
4 INE o gz 36.7
4 KBy ZI KA 36.7
6 K& T BK 36.9
7 R RKE BEX 37.6
8 FrfE EH ER 38.3
9 = SFH R 38.9
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& 2 RY—IL% K4 RPN
1 Higir & Rk X4 35.8
2 INE AL BRF 36.2
3 ol AE K= 375
4 F& B HLE 37.8
5 R Rl &F1E 38.1
5 K& KE Fh 38.1
7 Higir & BH KRB 38.4
8 K& T D 38.8
9 = L8 EF 39.0
9 Higir & £l FiE 39.0
11 FE FHig EFE 39.1
12 =] hE FI 40.2
13 FEB A EE 40.4
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1 K& EH FRAER 34.5
2 REA Ml &% 35.0
3 K& [fH & 35.4
3 BB Rk M 35.4
5 IRl BAR BEE 36.0
6 A& B B 36.2
7 REAR gl X& 36.3
8 K& xEH BE 38.9
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1 REvE B KT 33.9
2 = &k &M 345
3 INE L #T 36.3
4 REAR B Ind 36.5
5 BEA EH FHE 36.6
6 ARk AT Hx 36.7
7 INE AR OBEETF 37.0
8 I SR ER 37.6
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1 K& NIE e 34.0
2 K& xE 2KH 34.4
3 7rfE F#H X# 34.7
4 =] EBR BE 35.4
5 = ®EE R 36.1
6 REA T e 36.2
7 IR I WE 39.5

1 RER EH HLS 34.9
2 INETE BH BT 35.1
3 = AR B 35.3
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1 RER g =E 33.0
2 EIl=] AE EE 33.1
3 INEEE Ho &1 33.2
3 K& 7] SRE 33.2
5 Eil=] BT &R fILACER 35.7
WSS x>5:v0—)L SOk &F
JE 4L
1 ISR 36.1
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1 INE SR &=l 33.4
2 INE T2 EiE 34.0
3 FH ¥R yREE 34.4
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JE 4L
1 E N ZH XE 33.2

WSS+ 90— ST BF

1 K& i 29.9
2 Higks & HE X— 31.3
3 A& wnx 31.4
4 INE #HE & 32.0
5 fng & KE 325
6 = SFE A 32.6
7 INEE TE EAKRER 32.9
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1 REA EH BEiE 29.5
2 REA Wil D 30.0
3 =] HE KR 30.3
4 RKigrk Xt BF 30.4




